Ребус
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Ответы:

[image: image2.jpg](1 — cepe6po/pebpo, 2 — :xeneso/kenesa, 3 — AKTUHUIH/
aKTHHUA, 4 — HHUKeIb/elb, 5 — 0J0BO/ronoBa, 6 — 0J0BO/
conoBel, 7 — poauii/poguoina, 8 — kanwuii/kanuna, 9 — cenen/
benena, 10 — nupkouuii/kouu, 11 — MupKoHMii/akoHuT, 12 —
mMenb/penbka, 13 — drop/por, 14 — xuop/mopu, 15 — xaop/
xmopenna, 16 — cepa/cepna, 17 — cepa/cepaue, 18 — cepa/
cepexxka, 19 — cpuHen/cBuHbs, 20 — 6apwuii/6apc, 21 — 6a-
puii/6apaH, 22 — nnaruHa/maTad, 23 — nuaTuHa/THHA, 24 —
pajoH/anonuc, 25 — KceHoH/ceHoen, 26 — uHAMH/MHAOK, 27 —
IMHK/CUUHK, 28 — nuHK/IuHHU, 29 — 6op, Boxa/6opoga, 30 —
HeoH/HeOH, 31 — wmpupwmii/upuc, 32 — mHarpumii/HyTpusa, 33 —
Kanpuuii/Kansmap, 34 — Gapwuii/6apbapuc.)




